
 

 

 

 
 

 

 
 
 

 
 
 

 

 

 

 

 
 

 

   $�%% RU.�&27.�00229                                 
            2006 

                                                                                                                       01         <N?O       

 

 
�4D>4 FD4=E?>DF=>7> ED54EF64 ���% 

&<? FD4=E?>DF=>7> ED54EF64 2823 2823-01 

,4EE< FD4=E?>DF=>7> ED54EF64 

(547>6O= 46F><>5<?L) 
'�� � 315194-010, 315194 '��- 315195, 315195-025, 

315195-125, 315195-026, 

315195-126 

('�� «%��&�$»/UAZ 

«HUNTER») 

�4F57>D<O FD4=E?>DF=>7> ED54EF64 �1G 

�>4 ���  452330 

�>4 VIN %89282300? 0%W6 ??? %89282301? 0%W6??? 

�4O6<F5?L < 57> 44D5E ��� «�4DF5E» 

432700, 7.'?LO=>6E>, G?. �474D<=4, 34 

�77>F>6<F5?L < 57> 44D5E ��� «�4DF5E» 

432035, 7.'?LO=>6E>, 4/O 1514, ?D-4. �5G6M<>>6, 8 
 

��-�� %�$��&�$�%&��� &$��%��$&���� %$��%&�� 

 

�>?5E=4O D>D<G?4 / 654GM<5 >>?5E4 4E4/6E5 
 

%E5<4 >><?>=>6>< FD4=E?>DF=>7> ED54-

EF64 
?>?=>?D<6>4=4O, D4E?>?>65=<5 46<74F5?O - ?5D54=55, ?D>4>?L-

=>5 
 

&<? >G7>64 / >>?<G5EF6> 465D5= G=<65DE4? E> EN5<=O< 65EF><< 65DE><, E4?>= >G7>64 46F><>-

5<?O D4745?5= <5F4??<G5E>>= ?5D57>D>4>>=, 4?O ?5D56>7>< 74-

45D64==OE 6 E?5F<4?L=>< <7>?<D>64==>< >FE5>5 / 465D5=-5, 

>>?<G5EF6> <5EF E?5D54</ E744< � 2/ 5  

�47=4G5=<5 FD4=E?>DF=>7> ED54EF64 46F><>5<?L >?5D4F<6=O=, 456GD=>= G4EF<, 4?O =5E5=<O ?4F-

DG?L=>-?>EF>6>= E?G65O =4DO44<< EFD>56OE ?>4D4745?5=<= 

<<?<F<<, ?>4D4745?5=<= 654><EF65==>= <<?<F<<, 654><EF65=-

=>= >ED4=O < F.4. 

SE
RT
AU
TO
.R
U



  

 
 

 
                                                                                                                                                              2 

 

                                                             $�%% RU.�&27.�00229 

 

 

 
�454D<F=O5 D47<5DO, << 2823 2823 - 01 

- 4?<=4 3775 4100 

- L<D<=4 1785 1730 

- 6OE>F4 2170 (2225) 2250 

�474, << 2380 

�>?5O ?5D54=<E / 744=<E >>?5E, << 1445/1445 

(1453 / 1453) � 4?O <>EF>6 E 46>==>= 

7?46=>= ?5D544G5= 

 

1445/1445 

�4EE4 E=4DO65==>7>  

FD4=E?>DF=>7> ED54EF64, >7 (?> �%& 

37.001.408-85) 

 

1770 

 
�>?=4O <4EE4  

FD4=E?>DF=>7> ED54EF64, >7 
2520 

- =4 ?5D54=NN >EL 1020 

- =4 744=NN >EL 1500 

�>?GEF<<4O ?>?=4O <4EE4 ?D<F5?4 5G>E<D>6>4 ?D<F5?4 =5 ?D54GE<>FD5=4 

 2823 2823-01 

'��-4213 ���-409 �6<74F5?L (<4D>4, 

F<?) 55=7<=>6O=, G5FOD5EF4>F=O=, 6<4>>EF=>7> >E?4645=<O 
�>?<G5EF6> <  

D4E?>?>65=<5 F<?<=4D>6 

4,  

DO4=>5 

$45>G<= >5N5<, E<3 2890 2690 
%F5?5=L E64F<O 8,2 9,0 

�4>E<<4?L=4O  <>M=>EFL, >�F (<<=-1) 76,5 

(4000) 

94,1 

(4400) 

�4>E<<4?L=O= >DGFOM<= <><5=F,   

�.< (<<=-1) 

210,9 

(3000-3500) 

217,6 

(2400-2600) 

&>??<6> 55=7<= E >>F4=>6O< G<E?>< =5 <5=55 92 

%<EF5<4 ?<F4=<O D4E?D545?U==O= 6?DOE> F>??<64 

�?>> G?D46?5=<O 6?DOE>>< (<4D>4, F<?) ��� «-?>4D» 

<?< ��&-�, 

����%- 7.2 

��� «�-<�-����» <?< ��&-�, ��-

��%-7.2. 

�>74GL=O= D<?LFD (<4D>4, F<?) '�� 3160-1109010-10 E >4DF>==O< D<?LFDGNM<< M?5<5=F>< 

 

 

SE
RT
AU
TO
.R
U



  

 

7 00020474 

 
                                                                                                                                                         3 

 

                                                             $�%% RU.�&27.�00229 

 
%<EF5<4 746<74=<O 

$4E?D545?<F5?L (<4D>4, F<?) 

-?5>FD>==4O 

<<>D>?D>F5EE>D=4O 

�4FGL>4 746<74=<O (<4D>4, F<?) ���&-- 2, 3012.3705 <?< �� «%565D», 406.3705-01 <?< ��� «���», 406.3705-02, 

465, 46GE6O6>4=O5 
%65G< 746<74=<O (<4D>4, F<?) -���%,  

� 14�$; BRISK, NR15YC 

-���%, � 11, � 14�$; BRISK, NR17YC, 

NR15YC 

 2823 2823-01 

%<EF5<4 6O?GE>4 < =5=FD4?<74F<< 

>FD45>F46L<E 747>6 
>E=>6=>= < 4>?>?=<F5?L=O= 7?GL<F5?< E E<EF5<>= =5=FD4?<74F<<   

�E=>6=>= 7?GL<F5?L (<4D>4, F<?) ���. 3151-1201010-11; 

.�, 3151-1201010-12 

���, 31604-1201010; 

.�, 31604-1201010-01; 

��� <?< .�, 

31602-1201010, 31622-1201010 

�>?>?=<F5?L=O= 7?GL<F5?L (<4D>4, 

F<?) 

���, 3151-1202008; 

.�, 3151-1202008-01 

���, 3159-1201008; 

.�, 3159-1201008-01; 

��� <?< .�, 

31602-1202008 

�5=FD4?<74F>D (<4D>4, F<?)  

��� «�6F>���47D574F», �.3160-1206010 

 

&D4=E<<EE<O �5E4=<G5E>4O 

%F5??5=<5 (<4D>4, F<?) '�� <?< ��� <?< LUK, EGE>5 >4=>4<E>>6>5, E 7<4D46?<G5E><< ?D<6>4>< 

��� «��%» ��� «���» �>D>5>4 ?5D544G (<4D>4, F<?) 

?>?=>EFLN E<=ED>=<7<D>64==4O, E DGG=O< G?D46?5=<5< 

'<E?> ?5D544G 

 

?5D544F>G=O5 G<E?4  >>D>5>< ?5-

D544G: 

I  

 

II 

 

III 

 

IV 

 

V 

 

3x 

6?5D54- 4, =4744  - 1 

 

 

 

3,78 

 

2,60 

 

1,55 

 

1,00 

 

� 

 

                                4,12 

6?5D54 � 5, =4744 � 1 

 

 

 

3,616 

 

2,587 

 

1,516 

 

1,000 

 

0,855 

 

3,875 
$4744F>G=4O >>D>5>4 

(<4D>4, F<?) 

 

G<E?> ?5D544G 

 

?5D544F>G=O5 G<E?4 D4744F>G=>= >>D>5><: 

- 6OEL55 

-=<7L55 

'��, <5E4=<G5E>4O, 46GEEFG?5=G4F4O, E >F>?NG5=<5< ?5D54=57> <>EF4 

 

 

2 

 

 

1,00 

1,94 

�?46=4O ?5D544G4 (<4D>4, F<?) '��, >4<=4D=4O, >>=<G5E>4O <?< 46>==4O, D47=5E5==4O F5=FD4?L=4O >>=<G5E>4O ?4D4 < 

5>DF>64O F<?<=4D<G5E>4O ?4D4 E 6=GFD5==<< 74F5??5=<5< 

 

- ?5D544F>G=>5 G<E?> 7?46=>= ?5D544-

G< 
4,625 <?< 5,38 <?< 4,11 

 
 

 

 

SE
RT
AU
TO
.R
U



  

 

 
 

             4 
                

 

                                                                 $�%% RU.�&27.�00229 

 
�>465E>4  

- ?5D54=OO 746<E<<4O, DOG46=4O, ?DG6<==4O, E> EF45<?<74F>D>< ?>?5D5G=>= GEF>=G<6>EF<, E 46G<O 

7<4D46?<G5E><<< <?< 747>=4?>?=5==O<< F5?5E>>?<G5E><<< 4<>DF<74F>D4<< <?< 746<-

E<<4O =4 46GE ?D>4>?L=OE ?>?GM??<?F<G5E><E D5EE>D4E E 46G<O 7<4D46?<G5E><<< <?< 

747>=4?>?=5==O<< F5?5E>>?<G5E><<< 4<>DF<74F>D4<< 

- 744=OO 746<E<<4O, =4 46GE ?D>4>?L=OE ?>?GM??<?F<G5E><E D5EE>D4E E 46G<O 7<4D46?<G5E><<< 

<?< 747>=4?>?=5==O<< F5?5E>>?<G5E><<< 4<>DF<74F>D4<< 

$G?56>5 G?D46?5=<5 (<4D>4, 
F<?) 

'��, DG?56>= ?D<6>4 557 GE<?<F5?O, DG?56>= <5E4=<7< F<?4 «G5D6O> � 46GE 7D55=56O= 

D>?<>» <?< '��, DG?56>= ?D<6>4 E 7<4D>GE<?<F5?5<, DG?56>= <5E4=<7< F<?4 «6<=F � L4-

D<>>64O 74=>4 � D5=>4 � E5>F>D» 

&>D<>7=O5 E<EF5<O:  

- D45>G4O (<4D>4, F<?) '��, 7<4D46?<G5E><= 46GE>>=FGD=O= ?D<6>4 E D4745?5=<5< =4 >>=FGDO ?> >EO<, E 64>G-

G<=O<  GE<?<F5?5<, E D57G?OF>D>< F>D<>7=OE E<?: F>D<>7=O5 <5E4=<7<O ?5D54=<E >>?5E 
� 4<E>>6O5 <?< 54D454==O5, 744=<E >>?5E � 54D454==O5. 

- 74?4E=4O (<4D>4, F<?) '��, >464O= >>=FGD F>D<>7=>= E<EF5<O 

- EF>O=>G=4O (<4D>4, F<?) '��, FD4=E<<EE<>==O= F>D<>7 54D454==>7> F<?4 

  

,<=O (<4D>4)  /,�,  

/-435� 

/,�, 

/�-357� 

�,�, 

�-151 

�,�, 

�-214 

�,�, 

�-153 

�,�, 

�-155 

��,�, 

����-

219 

��,�, 

����-

221 

$47<5D  225/75 R16 215/90 R15 225 R16C 245/70 

R16 
225/75 R16 

235/70 

R16 

�=45>E =5EGM5= E?>E>5=>EF< 103 99 106 107 108 104 109 

�4F57>D<O E>>D>EF< 

 

$ N S Q S R S 

�>?>?=<F5?L=>5 >5>DG4>-

64=<5 FD4=E?>DF=>7> ED54-

EF64 

�5=F<?OF<>==O= ?N> 6 <5F4??<G5E>>= >DOL5, =4?>?L=O= 65M56>= OM<>, %�', ?5D57>D>4>4 E4?>=4, 

74D5L5G5==O5 744=<5 EF5>?4. �>E44>4-6OE44>4 7445D64==OE 6 <7>?<D>64==O= >FE5> >EGM5EF6?O5FEO 

G5D57 744=NN D4E?4L=GN 465DL.  

 

 

 

 

 

 

 

 

 

 

 
                                                           2823, 2823-01 

 

 
 

      �?<E4=<5 <4D><D>6>< FD4=E?>DF=>7> ED54EF64 ?D54EF46?5=> 6 ?D<?>65=<< 7 2. 

      �5M<= 6<4 FD4=E?>DF=OE ED54EF6 =4 2 ?<EF4E ?D54EF46?5= 6 ?D<?>65=<< 7 3. 
 

$G>>6>4<F5?L >D74=4 ?> E5DF<D<>4F<< 

 

  �.�. �5=<E>6       %.�. �G74G56 

           
?>4?<EL                <=<F<4?O, D4<<?<O 

     �5=EF6G5F E «   05 »       E5=FO5DO  2005 7. 

 
                            2005 

.                                                             30              467GEF4                     ------- 

SE
RT
AU
TO
.R
U



  

 

 
 

 
                                                                                                                                                                12 

 

                                                            $�%% RU.�&27.�00229 
 

�D<?>65=<5 72 > «�4>5D5=<N  

                                                                                                         F<?4 FD4=E?>DF=>7> ED54EF64» 
 

 

���%���� ��$��$���� &$��%��$&���� %$��%&�� 

 

1.  �5EF> D4E?>?>65=<O < D>D<4 7=4>4 E>>F65FEF6<O: 

 

$O4>< E F45?<G>>= <77>F>6<F5?O.  

 

�=4> E>>F65FEF6<O 6O?>?=5= ?> ��%& $ 50460 E G>474=<5< =><5D4 44==>7> «�4>5D5-
=<O F<?4 FD4=E?>DF=>7> ED54EF64». 

 

2.  �5EF> D4E?>?>65=<O F45?<G>< <77>F>6<F5?O: 

 

�4 ED54=5= EF>=>5 5>>>6<=O >G7>64 <564G 465DO<< E ?D46>= EF>D>=O. 

 

3.  �5EF> D4E?>?>65=<O <45=F<D<>4F<>==>7> =><5D4 (>>4 VIN): 

3.1 �4 F45?<G>5 <77>F>6<F5?O. 

3.2 $O4>< E F45?<G>>= <77>F>6<F5?O =4 ED54=5= EF>=>5 5>>>6<=O >G7>64 <564G 465DO<< E 
?D46>= EF>D>=O. 

 

4.  %FDG>FGD4 < E>45D64=<5 <45=F<D<>4F<>==>7> =><5D4 (=><5D>6) FD4=E?>DF=OE ED54EF6: 

 

1.  2. 3. 4. 5. 6. 7. 8. 9. 10. 11. 12. 13. 14. 15. 16. 17. 

X 8 9 2 8 2 3 ? ? ? 0 C W 6 ? ? ? 

 

?>7. 1-3: �564G=4D>4=O= <45=F<D<>4F<>==O= >>4 <77>F>6<F5?O (WMI): 

X89 - >>4 <77>F>6<F5?O (E<. F4>65 ?>7. 12-14), G>47O64NM<= =4 F>, GF> >5N5< 57> 

?D><76>4EF64 =5 ?D56OL45F 500 54. 6 7>4; 

?>7. 4-9: >?<E4F5?L=4O G4EFL (VDS) <45=F<D<>4F<>==>7> =><5D4 (<=45>E) FD4=E?>DF=>7> 

ED54EF64; 

?>7.4-7: 2823 � ?>EF>O==O5 E<<6>?O FD4=E?>DF=>7> ED54EF64; 

?>7. 8-9: 00 � 4?O F<?4 2823, 01 � 4?O F<?4 2823-01; 

?>7. 10-17: G>474F5?L=4O G4EFL (VIS); 

?>7. 10: ? - 7>4 6O?GE>4 (5-2005 7., 6-20067. < F.4. E>7?4E=> ��%& $ 51980); 

?>7. 11: 0 � ?>EF>O==4O; 

?>7. 12-14: CW6 � >>4 <77>F>6<F5?O (E>6<5EF=> E WMI) - ��� «�4DF5E»; 

?>7. 15-17: ??? � ?D><76>4EF65==O= ?>DO4>>6O= =><5D FD4=E?>DF=>7> ED54EF64. 

. 

 

 

 

                                                                                                               

SE
RT
AU
TO
.R
U



  

 

%FD.13 

                                                             $�%% RU.�&27.�00229 

�D<?>65=<5 73 > «�4>5D5=<N  

                                                                                                              F<?4 FD4=E?>DF=>7> ED54EF64» 

 

 

 

 
 

 

 

 

 

 

�6F><>5<?L >?5D4F<6=O=, 456GD=>= G4EF<,  

?4FDG?L=> � ?>EF>6>= E?G65O (���%) 2823 

2380

3775 

1445/1445 

(1453/1453) SE
RT
AU
TO
.R
U



  

 

%FD.14 

                                                             $�%% RU.�&27.�00229 

�D<?>65=<5 73 > «�4>5D5=<N  

                                                                                                              F<?4 FD4=E?>DF=>7> ED54EF64» 

 

 
 

 

 

 

 

 
 

�6F><>5<?L >?5D4F<6=O=, 456GD=>= G4EF<,  

?4FDG?L=> � ?>EF>6>= E?G65O (���%) 

2823-01 

2380

4100 

1445/1445 SE
RT
AU
TO
.R
U


